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The figures in the right-hand margin indicate marks.

Candidates are required to give their answers in their
own words as far as practicable

1. Answer any ten of the following questions:
1x10=10

e @ wift el Ted nie ¢

a) What is the formal validity of an argument?
e TpIRare ([Ee! T A 2

b) What is Implication?
Afooife fee

c) When a conjunctive proposition is true?
AL T U HEJ & 2

d) What is the Figure of Syllogism?

CNCERCISE G SR CISE:
[Turn Over]

g)

h)

i)

k)

D
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Represent in Venn Diagram :
CoAibeas AR W@ efogive S e
P=0

Name the fallacy committed by a Syllogism of
the form—AAA -2

AAA -2 ST I (S (717 GO0 2
When a deductive argument is said to be valid?
3 @ SRAR Y(&(F (@4 &0 22

How many types of standard form of categorical

propositions are there?
v SRR R b T &I 2

Write down the contrary proposition of “ All

men are mortal”.

IR R TR — @3 oo Reaidl a9 @l |
If P>Q is true, what is the truth value of P+Q?
I P>Q 7 2 O P+Q @3 ol F 22
What is the meaning of the term ‘Distribution'?
Jlorel e [ @l e

Write down the Boolean equation for ‘O’

proposition.

‘0" IETA JAR ANFA (e |

(2)



m)

Mention the rule of syllogism in violation of

which there occurs Existential fallacy.
TR @I T s76q T2 AfgFol @F 232

What is the negation of a tautology?

GHs FoAY) AT [Fa I 2

What is the converse of 'there are no white
Elephants'?

A Bfe @ — 93 wRfee weAls e

Answer any five from the following questions:

2x5=10

fasfafie @@ v are Ted nie ¢

2.
a)
b)
c)
d)
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Do all categorical proposition have Existential

import?

71 s e [ Afes aga S e

If A proposition is true, then its corresponding
Eis.... Lis........ O is.......

What is null class?
wqore Al e
What is the opposition of proposition?

R [itee e T @@E?

(3) [Turn Over]

g)

h)

Determine the truth value of '(P«Q)v P' when P
is false.

P 2 2@ '(PQ) v P! GF el [ 7 ?
What is the categorical proposition?

fer =T ool T e 2

How many types of proposition are there? Write

their name.
Seors v 57 2l ¢ 5 e

What is a premise and what is a conclusion of

a deductive argument?

GHD SRR SRR @ Pialg I AT 2

3. Answer any two of the following questions:

5x2=10

e @-@ i 7o deiw Ted e ¢

a)

b)
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Explain the class relation of different categorical

proposition.
fafen e fscor® oo deTas [ S|
Explain the fallacies committed in the following

two syllogistic argument forms owing to

violation of rules of syllogism.

fferie AyRiwmefe Tice @ @ seaetTe

(4)



MR GG O I FEA |
AEA-2
OAO-1

Use truth table to determine the following
statement forms as Tautologous, Contingent,

Self-contradictory.

MePRaE ey W@ @ s [y st
FoAe), Seifes o F-[CAH |

i) (PvQ)>(P-R)
ii) (P«Q)>[Qv(P>R)]

4. Answer any one of the following questions:

10x1=10

fasfafiie @@ o gree Ted nie ¢

a)
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Explain with illustrations the nature and rules of

Conversion. Transform the following sentence

into a logical form and convert them:
2+5+3=10

RS el ¢ e iy | FeEe 9

I PA e

oa SHRMPTTS SIFIE el 30 Sime SR
8

1) Some poets are philosophers
fog 37 vl

(5) [Turn Over]

b)
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i1) Some women are not musicians
g e TR w7
Test the validity of the following syllogism by

means of Venn diagram : 5+5=10

ceibead TR A Fefies T sermefes @ae
oF 3@t ¢

1) All that glitters is not gold. Tinsel glitters.

Hence Tinsel is not gold.

23 5F 5B (A ©OIZ3 @l 797 | Tinsel 5F 55
F(F, JodR Tinsel T < |

ii) EAE-1

Use truth-table to determine the validity of the

following arguments : 5+5=10

STepPTRER ARy e fafefie Ifewkn el v
SIGIH

1) P>Q
Q>R/P>R

ii) U>(~Vv~W)

(VeW)>~U/UsV

(6)



